Roll No: -
Sem-V Diploma Exam 2023 (Odd)
[Time: 3 Hours] (Computer Science & Engineering) (Theory) [Max. Marks: 70]
Data Communication & Networking (1618502)

- All questions are compulsory. (e v s1fari 2 |)
- Marks are mentioned on the right side of each question. (s @t wsr % 31§ 311 sifera foma 7))

Group (A) (77 -9)

Q.1  Choose the most suitable answer from the following options. (1*20=20)
(waitirer Sudw ke 1 g o |) -

I Which topology requires a multipoint connection? (fse ettt § HediaTse e I SREd Bt 8-)

(a) Bus (z®) (b) Star (=r) (c) Mesh (z=) (d) Ring (f&m)
i A television broadcast is an example of transmission. (effers shteswme Ziafter a1 3ere 27)
(a) Half duplex (g gwiaw) (b) Simplex (fracaa) (c) Full duplex (F= gwiew) (d) Automatic (sifemfes)

iii.  Communication channel is shared by all the machines on the network is called
(= mrey e Seadh % di AEie R R € 39 T FeEd 27)

(a) Broad cast Network (b) Unicast (c) Multicast (d) None of these
(sTeree Fea) (gFee ) (wedime) (3 & =+ 7))
iv. Blue tooth is an example of (sezar et 3aew )
(a) Personal area Network (w7 i@ Jea) (b) LAN (@) (c) WAN () (d) MAN (=)
V. The session Presentation and application layers are the support layers.
(GRERE AL RCRUIE M ERTES TUTE T 2-)

(@) User (zs)  (b) Network (fe==)  (c) Both (a) and (b) (=i (1) wa (7))  (d) Neither (a) or (b) (1€ (+1) @ (3))

vi. In atime domain plot the horizontal axis is a measure of (zrg# — <iw wite, Eifises ufaaa forgent wraar 27)
(a) Phase (%) (b) signal amplitude (R wefiege)  (C) frequency (Trerat) (d) Time (ww)

vii.  Communication between a computer and a keyboard involves (et siit freiid % d=m 1 71 wed 27)
(a) Automatic (b) Half-Duplex (c) Full-Duplex (d) Simplex
(sfrermfe) (&1~ gt (1 g (fewrcrr)
viii.  The first Network was (vear Jeas = o1?)
(@ CNNET (b) NSNET (c) NSFNET (d) ARPANET
iX.  Digital signature provides- (fefreer geaem # grar )
(a) Authentication (b) Non-Repudiation (c) Both (a) and (b) (d) Neither (a) or (b)
(e ) (- Tgem) (3T (31) 37 (1)) (T (31) w (1))
X. operates in the transport mode- ( e 7ig § il T 8- )
(@) IP sec (b) SSL (c) PGP (d) None of these (s & %7 &)
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Xi. The Physical layer concern with (feferet s stenfea 2))
(a) Bit-by-Bit Delivery (b) Process to process Delivery (c) Application to Application (d) None of the above

(fere-amé-fore fearady) (heE-g-wew fecradt) (QESIENE R R ENE) (37 @ = 7
xii. ~ Which transmission media has the highest transmission speed in a network?
(Forer Ziafirer wTeam 1 Seerqn AR 2T 2))
(a) Co- axial cable (b) Twisted Pair (c) Optical Fiber (d) Electrical Cable
(FTuferrareT heret ) (zfoees T=R) (eTfteshet HIgaR) (FAferzanct herer)
Xiii. Provide security at the transport layer. ( T SR H AT Y T 7))
(@) SSL (b) TLS (c) Either (a) or (b) ((=7) =1 () (d) Both (a) and (b) (3T (=7) 3k (3))
Xiv.  For purposes of routing, the internet is divided in to (T=fém & & & foru, sete =it T afer T 7))
(a) Wide area network (b) Autonomous network (c) Autonomous System  (d) None of these
(aTsE Ui Heah) (AT Jeash) (At few) (379 @ =iE )

XV.  Wireless transmission can be done via (amew grafiem fres 5 2 2])
(a) Radio waves (ifear @) (b) Microwaves (st aar)  (c) Infrared (=) (d) All of the above (s =+ft)

xvi.  Which layer links network support layers and user support layers
(F-4T TR fofeh et & "edeh 3T ISR |ule o i)
(a) Session layer (avH w=R) (b) Data-Link (zrer feiw)  (c) Transport (ziaar) (d) Physical (f&fsmerer)

xvii. In IPv4, what is the value of total length field in bytes if the header is 28 bytes and the data field is 400

bytes?
(IPv4  afe ¥t 3¢ am$e =1 & Td <TeT fhes Yoo aTEe &1 2 at Igeht ot @ivarrg fihee ase & fopat ERfi?)
(a) 428 (b) 407 (c) 107 (d) 427
xviii. Which layer is responsible for process to process delivery. (7 &1 @ Suter €  Téa & diee feesrt % forg|)
(a) Network (Fz=eh) (b) Transport (gi@drd) (c) Session (wwm) (d) Data link (zrer-foie)
XiX.  The network layer protocol of Internet is (z=wie &1 Yz =R Me F1 2t 82)
(a) Earthnet (b) Internet Protocol () HTTP (d) None of the above
(z1ef2) (32T TeThieT) (T8 (3 & g =)
XX. Which of the following is not a guided media (s @ = Tsee fafear 72 &)
() Optical fiber ( (b) Coaxial cable (c) copper wire (d) wireless LAN
sifteaet FIEaR) (FefoEaa HIger) (TR AR (Frrere o)

Group (B) (7w -=f)
Q.2 Differentiate between connectionless and connection oriented service? 4
(I o T e HATNULE Tl o ST I o))
OR (steram)
Explain in details about Packet switching? 4
(e wfiferT ot forega samea )
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Q.3

Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Discuss the role of Presentation layer in OSI Model.
(OSI dfed § SSReeM TR 1 I Fard))

OR (areram)
What are the advantages and disadvantages of optical Fiber?
(SHATTere W i Uit STR i i fora])

Discuss about Error Detection and Error correction?
(Tw feea™ wdf T~ e At ==t Hi)

OR (arera)
Write difference between digital and Analog data
(fefSTeat waf TmT Srer & 31t wyamd])

Define data communication. Write its Characteristics.
(ST FRgfeRR i T Y| seehl fomiwarett =1 ford))

OR (arera)
Describe virtual Private Network (VPN)
(43 TgAE eaeh hi ST )

What do you mean by star topology? Write its advantages and disadvantages over other topologies.
(Ve ZrdtedfS & SAToehT AT dTead 87 $Heh Tl e hiHRIT 2l TE Sateirsit & gerT i ford|)
OR (areram)
Define delta modulation. Write its Components.
(STeT HiggRIT 1 afeTid | 38 Hewhi &t fordl|)

Group (C) (v - #)
Explain the various classification of Network?
(Feash o Fffertor i =T +:i) )
OR (areram)
Explain TCP/IP model in details?
(TCP/IP witeat s farsqa samem &)

Explain Different types of Routing technique in details?
(o=t s o TR qehiteh ot v )
OR (steram)
What is Domain name system? Explain how IP address is converted to Domain name.
(S 9 fireew 71 2| [P vet® it SiF 99 # 8 aaa ST 2))

Write short note in any two
1) Satellite Network
i) Circuit Switching
iii) Bluetooth
(foret 3 w wifeqm fewooft foral|
1) HeasE Heae
i1) |fshe T
iif) s )
OR (areram)
What are the goals and objectives of computer Network? Also explain its advantages and
disadvantages.
(PP el ¥ UL T T B AU B T T ST HEET b ot Iooha )
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Q.10 What do you mean by computer network? Describe its category. 6
(P T W ST AT FHSA 27 FHh T hi == i)

OR (ateram)
Explain pure ALOHA. 6
(35 TEATeT T AT )

Q.11 What do you understand by firewall? Explain its classification. 6

(FRIE | 3T AT G &7 T FATUTRoRRT 3hT SATEAT i)

OR (areram)
Explain guided media in brief. 6
(TseE e i e § swe i)
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